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C 71744 1,036.29 1,038.56 0.22
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Pge 7| 7|
- =4 H & =4 H &
KHAL2-EAL 0 0.00 0 0.00
EHOy 2| A 0 0.00 0 0.00
™ C X A S| AHALEFQI X 0 0.00 0 0.00
QLA BHR| 3| AL 0 0.00 0 0.00
20 0 0.00 0 0.00
7| EFH| &% 0 0.00 0 0.00
Cteoiol. 5755 2 0.02 1 0.01
S TR
SN MH|A a2 1 0.02 1 0.01
SR —
2A| 3 0.04 2 0.02
SHAENA 3 0.04 1 0.01
XAt AL 3 0.07 4 0.08
ThOf S| A 4 0.12 7 0.13
HEH AR 2| AL EF QIR 0 0.00 0 0.01
UHALR 22| 2 AL 0 0.00 0 0.00
20 8 0.21 11 021
7| EtH| &** 0 0.00 0 0.00
ChaOfOf. B 442 1 0.02 1 0.01
U TV
=74 MHA Aag 1 0.02 0 0.01
S
A 2 0.04 1 0.02
SHAEA 1 0.04 1 0.01
A2 EAL 3 0.07 3 0.08
ZHOy 2| A 8 0.25 9 0.25
H C X A 2 S| AHA EFRI X 0 0.00 0 0.01
UHIALR 22| 2 AL 0 0.00 0 0.00
28t 11 033 13 0.34
7| EHH| &** 0 0.00 0 0.00
oo Rt e R Ea= 1 0.02 1 0.01
SN f:fjfij 1 0.02 0 0.01
SR —
SHA| 1 0.04 1 0.02
SHAEA 1 0.03 1 0.02
Xpat2 8 AL 0 0.07 0 0.08
ZHOf S| A 0 0.20 0 0.20
HET A 23| AHAEFRIXY) 0 0.00 0 0.01
LA 22| 3| A 0 0.00 0 0.00
23 0 0.28 0 0.29
7| EtH| &** 0 0.00 0 0.00
ChaOfOf. S 442 0 0.02 0 0.01
A TR
=4 MHA Aag 0 0.02 0 0.01
S8 —
A 0 0.04 0 0.02
SHAAM 0 0.04 0 0.02
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AL 2 A 0 0.07 0.08
ThOf S| A 0 0.21 0.21
HEH A 2| AL EY 0 0.00 0.01
LA 22| 3| A 0 0.00 0.00
2ot 0 0.29 0.29
7| EtH| &** 0 0.00 0.00
CheOjof. 570 0 0.02 0.01
A STV
=1 M|~ 2oz 0 0.02 0.01
S
A 0 0.04 0 0.02
SHAHAM 0 0.03 0 0.01
INENESEON, 0 0.07 0 0.08
ZHOy 2| A 0 0.06 0 0.06
HEX A 22| AH(A E 0 0.00 0 0.00
LHIALE 22| D AL 0 0.00 0 0.00
28t 0 0.14 0 0.15
7| EtH| &** 0 0.00 0 0.00
Che=0§0f. 570 == 0 0.03 0 0.01
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S MH|A a2 0 0.02 0 0.01
SR
A 0 0.05 0 0.02
SHMEA 0 0.05 0 0.01
XpoH2-EA 0 0.07 0 0.08
EHOf 3| A 0 0.04 0 0.05
HE XA BES| AH(ALEF 0 0.00 0 0.00
LEALR 2|3 0 0.00 0 0.00
20 0 0.11 0 0.13
7| EFH| & ** 0 0.00 0 0.00
Che=Oj0f. 5 71 == 0 0.03 0 0.01
o T =iexge
=74 MHA Aag 0 0.02 0 0.01
S8 —
A 0.05 0 0.02
SHAEA 0.06 0 0.02
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NEH HEHE
(THef - A=t %)
o ofe HE 42HE H|E gt
T S+ HEH|E S Hg ([SHBEHEHEPH0 - SH++2E HS
EPAENT|AZIEHAATIE 7| 20,0018 0.0004 0.0041 0.1834
RFEXHAE A HE B =T 20.0003 0.0005 0.0087 01471
ZHF(Class)d ozt
A Bl 0.8392 0 0.8456 0.18
o7 08393 0 0.8482 0.1287
Bl 13394 0 13426 0.1854
¢ o7 13393 0 1348 0.161
Bl 11359 0 1142 01789
ce o7 11361 0 1145 0.1413
Bl 11654 0 11739 0.1651
cp o7 1.1664 0 1175 01238
Bl 05784 0 0.5907 01972
S o7 0.5849 0 05929 00823
o Bl 04631 0 04742 02216
o7 05333 0 0541 0.0832
1) 32 4-H|8&H|&(Total Expense Ratio)0|2t 28E 4 § HEOA EEHS= 29 '7|EHH| 8 SUS =Xt HAHTH(E4-H|E XA 7|
F)OE e HEEM oilE 287|7H & FAXIZL BESH & E=-H|&5+F 2 LIEtH L Tt
F2) 0jof- B74 =2 H| 0|2t OjOf- B+ EE =Xt HHTH(E=-H| & AL 7|F)C 2 Lz HEEM siY 287|7F & FXIXIF £

o oo - S22 +=FS LIEtYLICh
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E o
6. S XA OjOjLY S
= (=}
NOjofFEAR R 2 3IHE
EBAEZHUDERAIEFA] (Et9 : #erel, %)
Ofj == o &= o of 2| H 8 %)
w2 39 = = CEHE e
321,018 13,659 90,035 7,364 18.62 73.87
F) e 28717 3 WD FA710] 542 1 ol 28717 3 E90t 740 BRSO Lk Hg
= = o >
HZZ 32| oo™ E =0
EAESHEERME[FA] (EH2] : %)
144012819 ~14H0418Y 14404819 ~14140718Y 14407819 ~1441018Y
50.92 41.74 18.62
- .
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UFLIEL
* DAYO| st HEE REATT IBEAY0| B HEO MBS wHLICH
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EYHAEAUZE(F)O| Zgot0] HEXLE RS AU E AR S22 2ols 2Hop HOjR|ALE Sl
SEXPAFOIA M S ELICE CHRE L OB E HEO| HETYME BS|AHMEFYRD el7(2t2 L& oEE E ol
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